Find the area between y =0, y= f(z), z=a, z =02
Special case: Suppose f is continuous and f > 0.
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where z; could be right end-point, left end-point, mid-point, or etc.
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1.) Find the area between the curve f (z) =

A

2 <0
-3 x>0’
and the x-axis, and between x = —4 and =z = 5.




@ide Note:

A.) Find the area under the curve f(x) = 2, above the

B.) Find the area under the curve h(z) = { (2) z f 1’ ;’ g’j ,I

above the x-axis, and between x = 0 and = = 5.

2 x irrational I

C.) Find the area under the curve h(x) = { 0 = rational ’

above the x-axis, and between x = 0 and z = 5.
"o "// /0
4

D.) Find the area under the curve h(z) = { 2z rational I

0 o irrational’
above the x-axis, and between £ = 0 and z = 5.




the finish line. Her speed at ¢ second intervals is given in
the table. Find lqwer and upber estimates for the distance
that she travele? during thege 6 seconds.

inScedbed pectoaglers
t(seconds) 0 2 4 6

N v(feet/sec) 40 20 5 O

o))+ )2+ ()
[ yo+20+ s {

(¢s)= /30

3.) The speed of a runner de(f%d steadily after crossing

(20) (2) 4+ (S)(a) + 0 = 404107 50

- Lower estimate: 5 O ‘Ff , Upper estimate: _/3 0 ﬁ‘
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